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MIXED RATIO
(F BT FaruTa)

Let x:y and P:Q be two ratios, then Px : Qy is called mixed ratio.
A AT x:y IR P:Qal HAUT &, O Px:Qy H Ad HFUTd Peolldl &

Ex- 3 2 y:g
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DUPLICATE RATIO

(@INTC)

The mixed ratio of two equal ratios is called the duplicate ratio.

Duplicate ratio of a:b is a?: b?
afe @l T &1 g9 FE FAT AU qAAT FT & A q|

qIUTT gl &1 €xo 31y
= A

/
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SUBDUPLICATE RATIO

(TSI

The square root of a certain ratio is called its subduplicate.

The Subduplicate ratio of a:b is \/a: Vb
gfe AN HUTT BT TIHSA AP FAGT HAUTT TAAT SATAT & AT TS
TN Feelell -85 (g
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TRIPLICATE RATIO
(FErdr 3eurd)

The cube of a certain ratio is called triplicate ratio.

The Triplicate ratio of a:b = a3: b3
gfe N AU BT O b FAT AU IAT AT g1 Tl a8
geATUTd Heelldl ¢l Ex- 31y "2

: Q‘l.‘gq @
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SUBTRIPLICATE RATIO

(BT ATIUTA)
The cube root of a certain ratio is called triplicate ratio.
The Triplicate ratio of a:b = ¥/a: b

v fAfREd IHequrd &1 e IO IHuid Hgerrdr ¢
tx 12 Ty

3
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INVERSE RATIO
(Sfceiel 37e]uTc)

The reciprocal quantities of ratio is called its inverse.

1

The Inverse Ratio of a:b = -Il;= b:a

HAUTd P GHA T AT P SHDT FSHA Hed o
Ex- 2:3
‘-‘:3'.'2\/
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1. Find the compound ratio of
the following 1 : 2 and 3 : 5.

1 :2d4ar 3 : 5 &1 Ty UM

A |
“ﬂ/3 10
(b) 3:5
(c) 10: 3
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2. Find the mixed ratio of the
following A1): 2, @: 5 and

B): 9.
1:2,3:53X5:9 a&r fas
AT ST
\(}VI:G
HE axgyg (b) 1:5
l‘\G (c) 1:3

(d) 1:18
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. Find the compound ratio of

the following : 0.55

1.8
an 9. 5.

1 4
o.4s:o.ssm3:§aﬂﬁw
3TUTA ST |

(a) S:41

(by S:44

(c) 44:5

(d) 41:5
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4. Find the duplicate ratio of

14 : 17.
14 : 17 &1 SHUTG SATQ|
&) 196
(b) 169 :
(c) 197

(d) 576 :

: 289

256

: 729

729
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S. Find the duplicate ratio of
«— 0.04 : 0.005.

0.04 : 0.005 T T AT

(c) 16: 25
(d) 25:16
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6. Find the subduplicate ratio

of\ﬁ_é .ffg
16 : 25 T FYATUTT FAT
4:5 \_(x)/4 : 9
(b) S: 4
(c) 256 : 625
(d) 625 : 256
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I S I ; . .
225 25 ¢ 7. Find the subduplicate ratio

1 1
= @6 : 9—@ o= 0.225 ~ 0.256
= 16 15 1 1 ,a.ri.wm
0225 - 0256
ATy |
(316 : 15
(b) 15: 16

(c) 225 : 256
(d) 256 : 225
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8. Find the triplicate ratio of
3 :S.

(b) 9 : 25

1 1
(c) 35:55
(d) 125 : 27
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9. Find the triplicate ratio of

1 . 1
049 ° 0.343°
. & T sand
049 ° 0.343
(a) 7: 10
(b) 10:7

343 : 1000

(d) 1000 : 343
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10. Find the sub-triplicate
ratio of 512 : 729.

512 : 729 & UAHSIUT

Fara |

. a] 8 : 9

A (b) 8 : 7
(c) 7:8
(d) 7:9

Download RG VIKRAMJEET application for complete course.
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11. Find the -triplicate
| éIQ v . 1 1
e ratio o 5os ¢ 53rz)
<) 512~ 3uny
Ca 8.7 iy & e g TAgEATaTd
| 0.343 ° 0.512
ATy |
(a) 7:8
\(B)/ 827
(c) 6:7
(d) 7:6
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12. Find the inverse ratio of

5 : 8 &1 Ufdell 379Td SaTal
\(}Y8:5

(b) 16 : 25

(c) 64 : 25

(d) 25 : 64
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13. Find the inverse ratio of

oL 1 1

6 ST 8 55_12-

Ql:_'é ii e )
64~ 512 i

Q / (a) 8:1
Ir\\leygq_) .Q M:S

(c) 64:1
(d) 1: 64
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14. A watermelon is cut into two

pieces in ratio 3 : S of weight. The
bigger part is cut into two pieces
in ratio 5 : 7 of weight again.
Then find ratio of resulting three
pieces according to their weights.

Ush TS &l A & AR 3 : 5 &
U ® N THSI H ST T g1 U
dS The ol YN & AR 5 : 7 &
U H FEANT WHeT T gl a816N
39 A ZHST T U F@ Rt

(a) 15:25:26 (b) 5:7:9
(c) 3:5:7 NaY 36:25: 35
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15. A man leaves T 86,000 to be divided
among S5 sons, 4 daughters and 2
nephews, if each daughter receives
four times as much as each nephew
and each son receives five times as
much each nephew, then how much
each daughter receive?

Uk Afad A X 86,000 @ T &l
5 UAl, 4 gfaat, 2 wdre W a@redr g1 afg
Uk QAt, Uedeh Wdlsl o 99 &l 4 TAT o9F
YT ot a7 Uk UF, Uedah sl & oF
& 5 AT 99 Wi i, of Uedeh AT oAl
fewar 3 &3

(a) T 1,000 (b) Z 6,000
\(s1'Z 8,000 (d) % 10,000




: THSK

40> 1000 SOD 200

ho> 3% 2%

5%

Colletien. 3000 000K  1000%

16.
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In a cricket match there are three types
of tickets say A, B and C each costing
X 1000, ¥ 500 and ¥ 200 respectively.
The ratio of tickets sold from category A,
Band Cis 3 : 2 :5. If the total collection
from selling the tickets is ¥ 2.5 crore.
Find the total number of tickets sold?

U fohhe T=r ° A, B 3T C &9 Wehw ol
fewmel &t sima wA: T 1000, T 500 31F
T 200 21 A, B 3T C guit § fas fewmet &t
3™ 3 : 2 : 5 % afg fewet =t fast @
®e aget T 2.5 ®HIT & HF AW T
feemel ot 9@ F1d &1
(a) Z5,000 (b) % 4,800

% 50,000 (d) 52,000
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17. ¥ 8640 distributed among A, B,

C and D such that 5 times the
share of A, 4 times the share of
B, 8 times the share of C and
10 times the share of D all are

equal. Find share of C.
T 8640 @t TIT &l A, B, C 3iX D

H3W UHR d@ier war ¢ fR A &
few @1 5 T, B & fg &1 4 T,
C & fg =1 8 771 @ar D & fe=A
&1 10 AT |t 3uw # swrew g1 C
e fewar s

(a) 1200 (b) T 1400

(c) T1300 "\(d) T 1600
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T x 3% =TI x ud 18. When 30% of a number is added

to another numbgg the second
@ number increases to 140%. What
is the ratio between the first and

the second number?

wa TRt G &1 30% foRdl EET G
4 SIgr Aer & af gEd e 140% &
g;%lqﬁaﬁr{qﬁmwa@m
' ?

(a) 3 : 4

\(by4: 3

(c) 3:2
(d) Data inadequate
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IxS0/ = 11 x 108+ 2 19. When 50% of one number is added
@ to a second number, the second

number increases to four-third.
What is the ratio between the first

number and the second number?

o fordt 9= & 50% @l Tomdr gad e
4

§ ST ST § a4 TR GE -B-wmﬁ

Wt g1 Ugell W@ 3N W W@ @l

3T SATEU

(@) 3:2 (b) 3:4

\(9( 2:3 (d) Data inadequate
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IO/.%B:_L'L% G1
D 1L XxB=-_1x6
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20. In a school 10% of number of boys is

1
equal to — th of number of girls and 10%

4
1

of number of girls is equal to 2—5 th of

number of boys. The ratio of number of

boys and girls is ?

Ueh faemera § @genl &t W@ & 10%, gl
: 1 . .

& W@ 2 & T wisfeal @i HE&r

. . 1
10%agﬁaﬁu@rmz—swm%la3%m

FIgfehal @l WEAT T 3TUTA_ TehaT 872
(a) 3:2 \(M/S:Z
c) 2:1 (d) 4:3
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21. By increasing the price of entry ticket to a fair in the ratio 9 : 13, the number of
visitors to the fair has decreased in the ratio 7 : 4. In what ratio has the total
collection increased or decreased?

Ueh Ul ot Yoyl fewe & gea 9 9 : 13 & 21U ¥ gig &3 OT, Uel § 309 a1 @ sl d9E&
7 : 4 % UM H &9 & ME & HA Gehod ° foRw rura o gig ar it gF #7

(a) increased in the ratio 52: 13 (b) increased in the ratio 36 : 91
\[s}~ decreased in the ratio 63 : 52 (d) decreased in the ratio 91 : 36
Prces Q19

mk%nﬁ 03" S2.
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22. By increasing the price of entry ticket to a fair in the ratio 11 : 16, the number of
visitors to the fair has decreased in the ratio 19 : 9. In WMO has the total
collection increased or decreased? A

Uk Ul hi WAy fewe & 9o § 11 : 16 & 31U § gfg &7 UT, 9ol H 37 arel @M ahl ST
19 : 9 o 33U | & & T3 & /A Gehot U forw 3ruTa § gig o &t g2 27

\_ur)/ decreased in the ratio 209 : 144 (b) increased in the ratio 144 : 209
(c) increased in the ratio 99 : 304 (d) decreased in the ratio 304 : 99
Phces 11 | G
_Numbeyy 19:q
Bltecin Q0g My
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23. Ratio of the expenditure of a

person on food, rent and other
is respectively 3 : 4 : 5. If their
expenditure increase respect-
ively by 60%, 50%, 20%. Find
the ratio of the new
expenditure?

Ueh Afgd @ e, o 3 3=
@<l T T UTT HEY: 3 : 4 : 5 B
gfd 37 WEl WX EW @Al H HEI:
60%, 50% 3T 20% ot g & ATt
&, @ 9T @ &7 U SaTd?

(@) 2:3:3 \(by4:5:5
(c) S:3:2 (d) 4:5:6
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24. The side of a triangle are in the
1 1 1

C @ ratio > 3 -7 If the perimeter of
/\ the triangle is 52 cm, the length of

the smallest side is :

%y_"?x qaaﬁgaaﬁw; : —%ar-'mm
ﬁglaﬁﬁgamtrﬁwmszﬁtﬁﬁa}
qad Biet o ferat oralt gh?

(a) 24 cm
(b) 8 cm
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25. The ratio of fares of 1t and 2"¢ classes between two railway station is 10 : 7.
Further, the fares are increased in the ratio of 3 : 4 and 5 : 9 respectively. If the
ratio of the number of passengers of the both classes is~3”": 5 and hence total
< 30,900 got as a fair. How much amount collected from 274 class?

a1 ted LyEl & e wew agr fgara gfvrat & e & |t 10 0 7 @ U o9 q9r | o
forra & U9 3 : 4 3T 5 : 9 & U W Fhg g3 Al 37 S ATl § ArAT FA AT AT
3 :5 @& U H B 3T & fawmar T 30,900 fm & w9 o wrw gu A fgdim oo o femas

ufor fema & w9 § ure gu? N
ISF . ol r900 X673 (8 18,900
‘:‘"& ?\‘\d-) lo - 5 A3 (b) T 19,400
Y Ny Yy 5\ R 900 (c) 20,200

. d <©
N M)’ . SS \ (d) % 17,300

+
e
|
=

'.é




